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1,1 16 0,6 Pjm 15,4 30 25,1 2| 16,4 pisek jemnozrnny - - 0,63 | stfedné ulehly | stfedné ulehly - 19 38 - 0,27 | 0,79 29,6
1,2 10 0,6 Pjm 9,4 19 15,4 2 10,1 pisek jemnozrnny - - 0,54 | stfedné ulehly | stfedné ulehly - 19 36 - 0,29 | 0,76 18,1
1,3 12 0,5 Pjm 11,5 23 18,8 2 12,3 pisek jemnozrnny - - 0,57 | stfedné ulehly | stfedné ulehly - 19 37 - 0,28 | 0,77 22,1
1,4 17 0,5 Pjm 16,6 33 27,1 2 17,7 pisek jemnozrnny - - 0,64 | stfedné ulehly | stfedné ulehly - 19 39 - 0,27 | 0,80 31,8
1,5 19 0,4 Pjm 18,6 37 30,4 2 19,9 pisek jemnozrnny - - 0,66 ulehly stfedné ulehly - 19 39 - 0,27 | 0,80 35,8
1,6 18 0,3 Pjm 17,7 35 28,9 2| 18,9 pisek jemnozrnny - - 0,66 ulehly stfedné ulehly - 19 39 - 0,27 | 0,80 34,0
1,7 14 0,3 Pjm 13,7 27 22,4 2| 14,7 pisek jemnozrnny - - 0,61 | stfedné ulehly | stfedné ulehly - 19 38 - 0,28 | 0,79 26,4
1,8 12 0,2 Pjm 11,8 23 19,3 2 12,6 pisek jemnozrnny - - 0,58 | stfedné ulehly | stfedné ulehly - 19 37 - 0,28 | 0,78 22,7
1,9 13 3[ 0,2 Pjm 12,9 25 21,0 2| 13,7 pisek jemnozrnny - - 0,59 | stfedné ulehly | stfedné ulehly - 19 38 - 0,28 | 0,78 24,7
2,0 9 0,4 Pjm 8,6 17 14,1 3 8,7 pisek jemnozrnny - - 0,51 | stfedné ulehly | stfedné ulehly - 19 35 - 0,30 | 0,75 15,6] 20
2,1 8 0,6 Pjm 7,4 15 12,1 3 7,5 pisek jemnozrnny - - 0,48 | stfedné ulehly | stfedné ulehly - 19 35 - 0,30 0,74 13,5
2,2 9 0,8 Pjm 8,2 16 13,4 3 8,3 pisek jemnozrnny - - 0,50 | stfedné ulehly | stfedné ulehly - 19 35 - 0,30 | 0,75 14,9
2,3 12 1,0 Pjm 11,0 22 18,0 3 111 pisek jemnozrnny - - 0,55 | stfedné ulehly | stfedné ulehly - 19 37 - 0,29 | 0,77 19,9
2,4 11 1,2 Pjm 9,8 19 16,0 3 9,9 pisek jemnozrnny - - 0,53 stfedné ulehly | stfedné ulehly - 19 36 - 0,29 | 0,76 17,7
2,5 10 1,4 Pjm 8,6 17 14,0 3 8,6 pisek jemnozrnny - - 0,51 | stfedné ulehly | stfedné ulehly - 19 35 - 0,30 | 0,75 15,6
2,6 9 1,6 Pjm 7,4 15 12,1 3 7,4 pisek jemnozrnny - - 0,48 | stfedné ulehly | stfedné ulehly - 19 35 - 0,30 | 0,74 13,4
2,7 9 1,8 Pjm 7,2 14 11,7 3 7,2 pisek jemnozrnny - - 0,47 | stfedné ulehly | stfedné ulehly - 19 35 - 0,30 0,74 13,0
2,8 13 2,0 Pjm 11,0 22 17,9 3 11,0 pisek jemnozrnny - - 0,55 | stfedné ulehly | stfedné ulehly - 19 37 - 0,29 | 0,77 19,8
2,9 11| 38| 2,3 Pjm 8,8 17 14,3 3 8,8 pisek jemnozrnny - - 0,51 | stfedné ulehly | stfedné ulehly - 19 36 - 0,30 | 0,75 15,8
3,0 10 2,7 Pjm 7,3 15 12,0 4 7,0 pisek jemnozrnny - - 0,47 | stfedné ulehly | stfedné ulehly - 19 34 - 0,30 | 0,74 12,5 30
3,1 10 3,1 Pjm 6,9 14 11,2 4 6,5 pisek jemnozrnny - - 0,45 | stfedné ulehly | stfedné ulehly - 19 34 - 0,311 0,73 11,8
3,2 15 3,6 Pjm 11,4 23 18,7 4] 10,9 pisek jemnozrnny - - 0,55 | stfedné ulehly | stfedné ulehly - 19 37 - 0,29 | 0,77 19,6
3,3 16 4,0 Pjm 12,0 24 19,6 4 11,4 pisek jemnozrnny - - 0,56 | stfedné ulehly | stfedné ulehly - 19 37 - 0,29 | 0,77 20,5
3,4 15 4,4 Pjm 10,6 21 17,3 41 10,1 pisek jemnozrnny - - 0,54 | stfedné ulehly | stfedné ulehly - 19 36 - 0,29 | 0,76 18,1
3,5 15 4,9 Pjm 10,1 20 16,6 4 9,6 pisek jemnozrnny - - 0,53 | stfedné ulehly | stfedné ulehly - 19 36 - 0,29 | 0,76 17,4
3,6 11 5,3 Pjm 5,7 11 9,3 4 5,4 pisek jemnozrnny - - 0,42 | stfedné ulehly | stfedné ulehly - 19 33 - 0,31 0,72 9,8
3,7 12 5,7 Pjm 6,3 12 10,3 4 6,0 pisek jemnozrnny - - 0,44 | stfedné ulehly | stfedné ulehly - 19 34 - 0,311 0,73 10,7
3,8 20 6,2 Pjm 13,8 27 22,6 4] 13,2 pisek jemnozrnny - - 0,59 | stfedné ulehly | stfedné ulehly - 19 37 - 0,28 | 0,78 23,7
3,9 21| 110| 6,6 Pjm 14,4 29 23,5 4 13,7 pisek jemnozrnny - - 0,59 | stfedné ulehly | stfedné ulehly - 19 38 - 0,28 | 0,78 24,6
4,0 39 7,3 P 31,7 63 51,9 5 28,6 pisek - - 0,73 ulehly ulehly - 19 41 - 0,26 | 0,83 68,6] 4,0
4,1 32 7,9 Sim || 241 | 48 39,4 5| 21,7 ttérk jemnozrnny - - 0,68 ulehly ulehly - | 19 40 - |o,26]0,81 56,4
4,2 45 8,6 Sim 36,4 72 59,5 5[ 32,8 Stérk jemnozrnny - - 0,76 ulehly ulehly - 19 42 - 0,25 0,83 85,3
4,3 43 9,2 Sim || 33,8 | 67 552 5| 304 ttérk jemnozrnny - - 0,75 ulehly ulehly - | 19 41 - |o,25]0,83 79,1
4,4 49 9,9 Sim 39,1 78 63,9 5[ 35,2 Stérk jemnozrnny - - 0,77 ulehly ulehly - 19 42 - 0,25 0,84 91,6
4,5 43 10,6 Sim || 32,4 | 64 53,00 5| 29,2 ttérk jemnozrnny - - 0,74 ulehly ulehly - | 19 41 - |o,25]0,83 76,0
4,6 40 11,2 Sim 28,8 57 47,1 5[ 25,9 Stérk jemnozrnny - - 0,71 ulehly ulehly - 19 41 - 0,26 | 0,82 67,4
4,7 31 11,9 Sim 19,1 38 31,3 5[ 17,2 $térk jemnozrnny - - 0,64 | stfedné ulehly | stfedné ulehly - 19 39 - 0,27 | 0,80 44,8



4,8 29 12,5 $im 16,5 33 26,9 5[ 14,8 $térk jemnozrnny - - 0,61 | stfedné ulehly | stfedné ulehly - 19 38 - 0,28 | 0,79 38,6
4,9 40| 220| 13,2 Sim 26,8 53 43,8 5| 24,1 Stérk jemnozrnny - - 0,70 ulehly ulehly - 19 40 - 0,26 | 0,82 62,8
5,0 67 14,0 R 53,0 105 86,7 6 45,4 skala navétrala 3,23 | velmi pevna tvrda - - - R6 | 19,5 43 323 (0,241 0,85 136,2
5,1 69 14,8 R 54,2 | 108 88,7 6| 46,4 skala navétrald 3,27 | velmipevna tvrda - - - R6 | 19,5 43 327 | 0,24 | 0,85 139,3
5,2 53 15,5 R 37,5 74 61,2 6| 32,1 skala navétrala 2,72 | velmipevna tvrda - - - R6 | 19,5 42 272 1 0,25 | 0,83 96,2
5,3 39 16,3 R 22,7 45 37,1 6 19,4 skala navétrald 2,11 | velmi pevna tvrda - - - - 19,5 39 211 | 0,27 | 0,80 58,2
5,4 42 17,1 R 24,9 49 40,7 6| 21,3 skala navétrala 2,22 | velmipevna tvrda - - - - 19,5 40 222 | 0,27 | 0,81 63,9
5,5 71 17,9 R 53,1 | 105 86,9 6 45,5 skala navétrald 3,24 | velmipevna tvrda - - - R6 | 19,5 43 324 |1 0,24 | 0,85 136,4
5,6 59 18,7 R 40,3 80 66,0 6| 34,5 skala navétrala 2,82 | velmipevna tvrda - - - R6 | 19,5 42 282 10,25 0,84 103,6
5,7 58 19,4 R 38,6 76 63,0 6[ 33,0 skala navétrald 2,76 | velmipevna tvrda - - - R6 | 19,5 42 276 | 0,25 | 0,83 99,0
5,8 82 20,2 R 61,8 123 101,0 6 52,9 skala navétrala 3,49 | velmipevna tvrda - - - R6 | 19,5 44 349 | 0,23 | 0,86 158,7
5,9 187| 350( 21,0 R 166,0 | 329 | 271,4 6| 142,1 skala navétrald 5,72 | velmi pevna tvrda - - - R6 | 19,5 49 572 1 0,20 | 0,90 426,3
6,0 350 19,1 R 330,9 | 656 | 541,0 7| 269,8 skala navétrala 7,88 | velmipevna tvrda - - - R5 | 19,5 52 788 | 0,18 | 0,92 809,5
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2 0,0 100,0 200,0 300,0 400,0 500,0
0,0 0 0,0 0,1 0 0,1 1 0,1 0,0 0,11 | velmi mékka | mékka - - - - 18,5 - 20 - 0,40 | 0,47 0,1 o,
0,1 1 0,0 Pr 0,5 1 0,8 1 0,6 prach, hlina 0,36 mékka mékka - - - - 18,5 - 31 36 (0,33 0,68 0,9
0,2 1 0,0 Pr 0,5 1 0,8 1 0,6 prach, hlina 0,36 mékka mékka - - - - 18,5 - 31 36 | 0,33 0,68 0,9
0,3 2 0,0 Pr 2,0 4 3,3 1 2,3 prach, hlina 0,72 tuha tuha - - - - 19 - 32 72 (0,32 0,69 3,4
0,4 1 0,0 Pr 1,0 2 1,6 1 1,1 prach, hlina 0,51 tuha tuha - - - - 19 - 31 51 |10,33] 0,68 1,7
0,5 2 0,0 Pr 2,0 4 3,3 1 2,3 prach, hlina 0,72 tuha tuha - - - - 19 - 32 72 (0,32 0,69 3,4
0,6 2 0,0 Pr 2,0 4 3,3 1 2,3 prach, hlina 0,72 tuha tuha - - - - 19 - 32 72 10,32 0,69 3,4
0,7 2 0,0 Pjm 2,0 4 3,3 1 2,3 pisek jemnozrnny - - 0,26 kypry kypry - 19,5 29 - 0,34 | 0,65 4,1
0,8 3 0,0 Pjm 3,0 6 4,9 1 3,4 pisek jemnozrnny - - 0,33 kypry stfedné ulehly - 19,5 31 - 0,33 | 0,68 6,2
0,9 4 ol 0,0 Pjm 4,0 8 6,5 1 4,6 pisek jemnozrnny - - 0,39 | stfedné ulehly | stfedné ulehly - 19,5 32 - 0,321 0,71 8,2
1,0 3 0,0 Pjm 3,0 6 4,9 2 3,2 pisek jemnozrnny - - 0,32 kypry kypry - 19,5 31 - 0,33 | 0,68 57] 1,0
1,1 4 0,0 Pjm 4,0 8 6,5 2 4,2 pisek jemnozrnny - - 0,37 | stfedné ulehly | stfedné ulehly - 19,5 32 - 0,321 0,70 7,6
1,2 4 0,0 Pjm 4,0 8 6,5 2 4,2 pisek jemnozrnny - - 0,37 | stfedné ulehly | stfedné ulehly - 19,5 32 - 0,32 (0,70 7,6
1,3 7 0,1 Pjm 6,9 14 11,3 2 7,4 pisek jemnozrnny - - 0,48 | stfedné ulehly | stfedné ulehly - 19,5 35 - 0,30 0,74 13,3
1,4 6 0,1 Pjm 5,9 12 9,7 2 6,3 pisek jemnozrnny - - 0,45 | stfedné ulehly | stfedné ulehly - 19,5 34 - 0,31(0,73 11,4
1,5 2 0,1 Pjm 1,9 4 3,1 2 2,0 pisek jemnozrnny - - 0,23 kypry kypry - 19,5 29 - 0,341 0,64 3,7
1,6 3 0,1 Pjm 2,9 6 4,7 2 3,1 pisek jemnozrnny - - 0,31 kypry kypry - 19,5 31 - 0,33 | 0,68 5,6
1,7 4 0,1 Pjm 3,9 8 6,3 2 41 pisek jemnozrnny - - 0,37 | stfedné ulehly | stfedné ulehly - 19,5 32 - 0,321 0,70 7,5
1,8 6 0,1 Pjm 5,9 12 9,6 2 6,3 pisek jemnozrnny - - 0,45 | stfedné ulehly | stfedné ulehly - 19,5 34 - 0,31(0,73 11,3
1,9 5 3[ 0,2 Pjm 4,9 10 7,9 2 5,2 pisek jemnozrnny - - 0,41 | stfedné ulehly | stfedné ulehly - 19,5 33 - 0,311 0,72 9,3
2,0 6 0,2 Pjm 5,8 12 9,5 3 5,9 pisek jemnozrnny - - 0,43 stfedné ulehly | stfedné ulehly - 19,5 34 - 0,31 0,72 10,5] 20
2,1 24 0,2 Pjm 23,8 | 47 38,9 3 23,9 pisek jemnozrnny - - 0,70 ulehly ulehly - 19,5 40 - 0,26 | 0,82 43,1
2,2 16 0,2 Pjm 15,8 31 25,8 3 15,9 pisek jemnozrnny - - 0,62 | stfedné ulehly | stfedné ulehly - 19,5 38 - 0,28 | 0,79 28,5
2,3 18 0,3 Pjm 17,7 35 29,0 3[ 17,8 pisek jemnozrnny - - 0,64 | stfedné ulehly | stfedné ulehly - 19,5 39 - 0,27 | 0,80 32,1
2,4 9 0,3 Pjm 8,7 17 14,2 3 8,8 pisek jemnozrnny - - 0,51 | stfedné ulehly | stfedné ulehly - 19,5 35 - 0,30 | 0,75 15,8
2,5 9 0,3 Pjm 8,7 17 14,2 3 8,7 pisek jemnozrnny - - 0,51 | stfedné ulehly | stfedné ulehly - 19,5 35 - 0,30 | 0,75 15,7
2,6 10 0,4 Pjm 9,6 19 15,8 3 9,7 pisek jemnozrnny - - 0,53 stfedné ulehly | stfedné ulehly - 19,5 36 - 0,29 | 0,76 17,5
2,7 9 0,4 Pjm 8,6 17 14,1 3 8,7 pisek jemnozrnny - - 0,51 | stfedné ulehly | stfedné ulehly - 19,5 35 - 0,30 | 0,75 15,6
2,8 8 0,4 Pjm 7,6 15 12,4 3 7,6 pisek jemnozrnny - - 0,48 | stfedné ulehly | stfedné ulehly - 19,5 35 - 0,30 | 0,74 13,7
2,9 6 8| 0,5 Pjm 5,6 11 9,1 3 5,6 pisek jemnozrnny - - 0,42 | stfedné ulehly | stfedné ulehly - 19,5 33 - 0,311 0,72 10,1
3,0 7 0,6 Pjm 6,4 13 104 4 6,0 pisek jemnozrnny - - 0,44 | stfedné ulehly | stfedné ulehly - 19,5 34 - 0,31(0,73 10,9] 30
3,1 4 0,8 Pjm 3,2 6 5,2 4 3,0 pisek jemnozrnny - - 0,31 kypry kypry - 19,5 30 - 0,33 | 0,67 5,4
3,2 3 1,0 Pjm 2,0 4 3,2 4 1,9 pisek jemnozrnny - - 0,22 kypry kypry - 19,5 28 - 0,35 ] 0,64 3,4
3,3 1 1,2 J 0,1 0 0,1 4 0,0 jil 0,10 | velmi mékka | meékka - - - - 19,5 - 20 10 | 0,40 | 0,47 0,1
3,4 2 1,4 J 0,6 1 0,9 4 0,5 jil 0,35 mékka mékka - - - - 19,5 - 20 35 | 0,40 | 0,47 0,1
3,5 2 1,6 J 0,4 1 0,6 4 0,4 jil 0,29 mékka mékka - - - - 19,5 - 20 29 (0,40 0,47 0,1
3,6 2 1,8 J 0,2 0 0,3 4 0,2 jil 0,20 | velmi mékka | mékka - - - - 19,5 - 20 20 | 0,40 | 0,47 0,1
3,7 1 2,0 J 0,1 0 0,1 4 0,0 jil 0,10 | velmi mékka | meékka - - - - 19,5 - 20 10 | 0,40 | 0,47 0,1
3,8 9 2,2 Pjm 6,8 13 11,1 4 6,5 pisek jemnozrnny - - 0,45 | stfedné ulehly | stfedné ulehly - 19,5 34 - 0,31 (0,73 11,6
3,9 14| 40| 2,4 Pjm 11,6 23 19,0 4 11,0 pisek jemnozrnny - - 0,55 | stfedné ulehly | stfedné ulehly - 19,5 37 - 0,29 | 0,77 19,8
4,0 10 3,2 Pjm 6,8 13 11,1 5 6,1 pisek jemnozrnny - - 0,44 | stfedné ulehly | stfedné ulehly - 19,5 34 - 0,31 (0,73 11,0] 40
41 14 4,1 Pjm 9,9 20 16,2 5 8,9 pisek jemnozrnny - - 0,51 | stfedné ulehly | stfedné ulehly - 19,5 36 - 0,29 | 0,75 16,1
4,2 25 49 S 20,1 40 32,8 5[ 18,1 stérk - - 0,65 | stfedné ulehly | stfedné ulehly - 19,5 39 - 0,27 | 0,80 54,3
4,3 47 5,8 R 41,2 82 67,4 5 37,2 skala navétrala 2,93 | velmi pevna tvrda - - - R6 | 19,5 42 293 10,25 0,84 111,5
4,4 30 6,6 R 23,4 46 38,3 5[ 21,1 skala navétrald 2,20 | velmi pevna tvrdd - - - - 19,5 40 220 | 0,27 | 0,81 63,2
4,5 24 7,4 R 16,6 33 27,1 5 14,9 skala navétrala 1,85 | velmi pevna tvrda - - - - 19,5 38 185 | 0,28 | 0,79 44,8
4,6 41 8,3 R 32,7 65 53,5 5[ 29,5 skala navétrald 2,61 | velmipevna tvrdd - - - R6 | 19,5 41 261 | 0,25 0,83 88,4
4,7 63 9,1 R 53,9 | 107 88,1 5| 48,5 skala navétrala 3,34 | velmi pevna tvrda - - - R6 | 19,5 44 334 10,24 | 0,85 145,6




4,8 84 10,0 R 74,0 147 121,1 5 66,7 skala navétrala 3,92 | velmipevna tvrda R6 | 19,5 45 392 | 0,23 ] 0,87 200,1
49 56| 180| 10,8 R 45,2 90 73,9 5 40,7 skala navétrald 3,06 | velmipevna tvrda R6 | 19,5 43 306 | 0,24 | 0,84 122,2
5,0 46 11,2 R 34,8 69 56,9 6| 29,8 skala navétrala 2,62 | velmipevna tvrda R6 | 19,5 41 262 | 0,25 | 0,83 89,3
5,1 64 11,6 R 52,4 | 104 85,6 6| 44,8 skala navétrald 3,21 | velmipevna tvrda R6 | 19,5 43 321 | 0,24 | 0,85 134,5
5,2 71 12,1 R 58,9 117 96,4 6 50,5 skala navétrala 3,41 | velmipevna tvrda R6 | 19,5 44 341 | 0,24 ]| 0,85 151,4
5,3 36 12,5 R 23,5 47 38,5 6 20,1 skala navétrald 2,15 | velmi pevna tvrda - 19,5 39 215 | 0,27 | 0,80 60,4
5,4 40 12,9 R 27,1 54 44,3 6| 23,2 skala navétrala 2,31 | velmipevna tvrda - 19,5 40 231 | 0,26 | 0,81 69,6
5,5 42 13,3 R 28,7 57 46,9 6| 24,6 skala navétrald 2,38 | velmipevna tvrda - 19,5 40 238 | 0,26 | 0,82 73,7
5,6 42 13,7 R 28,3 56 46,2 6| 24,2 skala navétrala 2,36 | velmipevna tvrda - 19,5 40 236 | 0,26 | 0,82 72,6
5,7 23 14,2 R 8,8 18 14,5 6 7,6 skala navétrald 1,32 | velmipevna pevna - 19,5 35 132 [ 0,30 | 0,74 22,7
5,8 17 14,6 R 2,4 5 4,0 6 2,1 skala navétrala 0,69 tuhd tuha - 19,5 29 69 | 0,34 0,64 6,2
5,9 22| 250| 15,0 R 7,0 14 11,4 6 6,0 skala navétrald 1,17 | velmi pevna pevna - 19,5 34 117 { 0,31 ] 0,73 18,0
6,0 38 13,7 R 24,3 48 39,7 7| 19,8 skala navétrala 2,14 | velmi pevna tvrda - 19,5 39 214 | 0,27 | 0,80 59,4
6,1 28 12,4 R 15,6 31 25,5 7 12,7 skala navétrald 1,71 | velmi pevna tvrda - 19,5 37 171 | 0,28 | 0,78 38,1
6,2 37 11,1 R 25,9 51 42,3 71 211 skala navétrala 2,20 | velmipevna tvrda - 19,5 40 220 | 0,27 | 0,81 63,3
6,3 85 9,8 R 75,2 | 149 | 122,9 7| 61,3 skala navétrald 3,76 | velmipevna tvrda R6 | 19,5 45 376 | 0,23 | 0,86 183,9
6,4 330 8,6 R 321,5| 638 | 525,6 7|1 262,1 skala navétrala 7,77 | velmi pevna tvrda R5 | 19,5 52 777 | 0,18 | 0,92 786,4

5,0

6,0



